Analiza odgovora

Ljetni rok 2011./2012. - Madarski jezik (materinski) - Test, u€enici gimnazija

Pitanje | Odgovori| Status odgovora | Broj kandidata | Postotak | Q1 %] Q2 %[ Q3 %[ Q4 %
1 B Neto¢an odgovor 2 66,67 0 50 50 0
1 C Tocan odgovor 1 33,33 100 0 0 0
2 A Toc€an odgovor 2 66,67 0 50 50 0
2 C Neto€an odgovor 1 33,33 100 0 0 0
3 C Toc€an odgovor 2 66,67 50 0 50 0
3 D Neto€an odgovor 1 33,33 0 100 0 0
4 C Toc€an odgovor 1 33,33 0 0 100 0
4 D Neto¢an odgovor 2 66,67 50 50 0 0
5 D Toc€an odgovor 3 100 33 33 33 0
6 D Tocan odgovor 3 100 33 33 33 0
7 C Toc€an odgovor 3 100 33 33 33 0
8 A Tocan odgovor 1 33,33 100 0 0 0
8 B Neto&an odgovor 1 33,33 0 100 0 0
8 C Neto€an odgovor 1 33,33 0 0 100 0
9 B Toc€an odgovor 3 100 33 33 33 0
10 C Tocan odgovor 3 100 33 33 33 0
11 A Toc€an odgovor 3 100 33 33 33 0
12 C Tocan odgovor 2 66,67 0 50 50 0
12 D Neto&an odgovor 1 33,33 100 0 0 0
13 A Neto€an odgovor 1 33,33 0 100 0 0
13 B Toc€an odgovor 2 66,67 50 0 50 0
14 A Tocan odgovor 3 100 33 33 33 0
15 D Toc€an odgovor 3 100 33 33 33 0
16 A Tocan odgovor 1 33,33 0 0 100 0
16 B Neto&an odgovor 1 33,33 0 100 0 0
16 C Neto€an odgovor 1 33,33 100 0 0 0
17 A NetoCan odgovor 2 66,67 50 50 0 0
17 D Neto€an odgovor 1 33,33 0 0 100 0
18 D Tocan odgovor 3 100 33 33 33 0
19 C Tocan odgovor 3 100 33 33 33 0
20 A NetoCan odgovor 1 33,33 0 100 0 0
20 B Tocan odgovor 2 66,67 50 0 50 0
21 B NetoCan odgovor 1 33,33 0 0 100 0
21 C Neto€an odgovor 2 66,67 50 50 0 0
22 A Tocan odgovor 1 33,33 0 0 100 0
22 D Neto€an odgovor 2 66,67 50 50 0 0
23 A NetoCan odgovor 1 33,33 0 100 0 0
23 B Tocan odgovor 2 66,67 50 0 50 0
24 B NetoCan odgovor 2 66,67 50 0 50 0
24 C Tocan odgovor 1 33,33 0 100 0 0
25 A NetoCan odgovor 1 33,33 100 0 0 0
25 B Tocan odgovor 2 66,67 0 50 50 0
26 C Tocan odgovor 2 66,67 0 50 50 0
26 D Neto€an odgovor 1 33,33 100 0 0 0
27 D Tocan odgovor 3 100 33 33 33 0
28 A Neto€an odgovor 2 66,67 50 0 50 0
28 B Tocan odgovor 1 33,33 0 100 0 0
29 B Neto€an odgovor 1 33,33 100 0 0 0
29 C Tocan odgovor 2 66,67 0 50 50 0
30 B Neto€an odgovor 1 33,33 0 0 100 0
30 D Neto€an odgovor 2 66,67 50 50 0 0
31 B Neto€an odgovor 1 33,33 0 0 100 0




31 D TocCan odgovor 2 66,67 50 50 0 0
32 B Tocan odgovor 3 100 33 33 33 0
33 A Neto¢an odgovor 1 33,33 0 0 100 0
33 D Tocan odgovor 2 66,67 50 50 0 0
34 A Toc€an odgovor 2 66,67 0 50 50 0
34 C Neto€an odgovor 1 33,33 100 0 0 0
35 C Neto¢an odgovor 1 33,33 100 0 0 0
35 D Tocan odgovor 2 66,67 0 50 50 0
36 D Toc€an odgovor 3 100 33 33 33 0
37 A Neto€an odgovor 1 33,33 100 0 0 0
37 B Toc€an odgovor 2 66,67 0 50 50 0
38 A Tocan odgovor 3 100 33 33 33 0
39 B Toc€an odgovor 2 66,67 0 50 50 0
39 D Neto€an odgovor 1 33,33 100 0 0 0
40 C Toc€an odgovor 3 100 33 33 33 0
41.1 A Neto¢an odgovor 1 33,33 0 100 0 0
41.1 C Toc€an odgovor 1 33,33 0 0 100 0
41.1 G Neto€an odgovor 1 33,33 100 0 0 0
41.2 C Neto&an odgovor 1 33,33 100 0 0 0
41.2 D Neto¢an odgovor 1 33,33 0 100 0 0
41.2 E Toc€an odgovor 1 33,33 0 0 100 0
41.3 F Tocan odgovor 2 66,67 50 50 0 0
41.3 G Neto&an odgovor 1 33,33 0 0 100 0
41.4 B Toc¢an odgovor 2 66,67 50 50 0 0
414 F Neto&an odgovor 1 33,33 0 0 100 0
41.5 A Neto€an odgovor 1 33,33 100 0 0 0
41.5 D Toc€an odgovor 1 33,33 0 0 100 0
41.5 G Neto€an odgovor 1 33,33 0 100 0 0
42.1 B Neto&an odgovor 1 33,33 100 0 0 0
42.1 F Tocan odgovor 2 66,67 0 50 50 0
42.2 B Tocan odgovor 1 33,33 0 0 100 0
42.2 C Neto¢an odgovor 2 66,67 50 50 0 0
42.3 A Tocan odgovor 3 100 33 33 33 0
42.4 B Neto¢an odgovor 1 33,33 0 100 0 0
42.4 C Tocan odgovor 1 33,33 0 0 100 0
424 F Neto€an odgovor 1 33,33 100 0 0 0
42.5 D Tocan odgovor 2 66,67 0 50 50 0
42.5 G Neto€an odgovor 1 33,33 100 0 0 0
43 A Tocan odgovor 3 100 33 33 33 0
44 B Tocan odgovor 3 100 33 33 33 0
45 B Tocan odgovor 3 100 33 33 33 0
46 B Tocan odgovor 3 100 33 33 33 0
47 A Tocan odgovor 2 66,67 0 50 50 0
47 B Neto€an odgovor 1 33,33 100 0 0 0
48 A Tocan odgovor 3 100 33 33 33 0
49 A Neto€an odgovor 1 33,33 100 0 0 0
49 B Tocan odgovor 2 66,67 0 50 50 0
50 A Tocan odgovor 3 100 33 33 33 0
51 A NetoCan odgovor 1 33,33 0 100 0 0
51 B Tocan odgovor 2 66,67 50 0 50 0
52 B Todan odgovor 3 100 33 33 33 0




